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General Instructions :
(i)
(11)
(1i1)

(iv)

qmE= [{Er
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(i)
(it)
(ii1)
(iv)

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.

Candidates can attempt only one part of the remaining parts
B and C. :

All parts of the questions should be attempted at one place.

T8 JIT-97 AT I A FAEE - &, G AN T

9T % G oE & faw srHard 8

T B VT 9 @ SN T H @ FE O YT 5T T E
4t 797 & g4 9F & S UF & W W A |

PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms

and Companies)

HET &

(eI WA, WiEERT wal 9o swit & fou oraie)

How does the nature of business affect the value of goodwill of a firm?

U F YEH BH H Td F T F FE JER g9l & @ o2

State the meaning of sacrificing ratio.

N UG 3 TRy |-

What is the basis for preparing Receipt and Payment Account ?
Y Qe SEIAE WA S F S SEE § 2

Give the average period in months for charging interest on drawings
for the same amount withdrawn at the beginning of each quarter.

S gHE g SO fouel & Y § ameRa & S @ O o Uiy ® =
% Ui & fow 3w § o SH ol Sigd ey & weE H waey |

Give the meaning of ‘Issue of Debentures as a collateral security’.

T duftes yfoufd & &9 § frifad =0l & od saRe |
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X Ltd. redeemed 1000, 6% Debentures of ¥ 100 each by converting
them into Equity shares of ¥ 100 each. The 6% Debentures were
redeemable at a premium of 5% for which the Equity shares were
issued at a premium of 25%. Pass the necessary journal entries for the
redemption of the above mentioned Debentures in the books of X Ltd.

T fa. 9 T 100 Y% F 1000, 6% TG & LT T 100 TAF & GHAT 3T
¥ gfafdd & 5 | 6% RO W OWMET 5% & WEEH W oSE 91, ok
fo woar sl & frm 25% & $fEm | T SwdE R % e %
o e fa. & qe # sevas Usme Safea S |

From the following information of a club, show the amounts of Prize
awarded & Prize Fund in the Financial Statements of the club for the
year ended on 31" March 2009 and 31°® March 2010 :

Details T
Prize Fund as on 1.4.2009 : 20,000

Prize Fund donations received during the
year 2009 — 2010 40,000

Prizes awarded during the year 2009 — 2010 69,000

~

Hidfgd 941 ¥ & Fa9 & 31 79 2009 991 31 99 2010 &I GH @ &t
an A g UL . Y. G SRl Sl UYL . feie. et iz

[ %
1.4.2009 & TEHR Ay 20,000
79 2009 — 2010 # TR Y F o ga 40,000
a9 2009 — 2010 ¥ foU MU QR 69,000

Goodluck Ltd. purchased machinery costing ¥ 10,00,000 from JFair Deals

Ltd. The company paid the price by issue of Equity shares of % 10 each at
P

a premium of 25%. -

Pass necessary journal entries for the above transactions in the books
of Goodluck Ltd.

o fa. 9 %R €ew fd. § T 10,00,000 HT F AYAT & w7 fRAr | e
q TR @ YA 3 10 A T i & friww gw fem R 25% % sifem
w frifgg fear = |

Teors fol. & Q& § STd® oFeAl & AT STeavas UsHmeEr sfafpEr i |

3 P.T.O.
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A partnership firm earned net profits during the last three years as

follows :

Years Net profit
3
2007— 2008 1,90,000
2008 — 2009 2,20,000
2009 - 2010 2,50,000

The capital employed in the firm throughout the above mentioned period
has been I 4,00,000. Having regard to the risk involved, 15% is
considered to be a fair return on the capital. The remuneration of all the
partners during this period is estimated to be ¥ 1,00,000 per annum.

Calculate the value of goodwill on the basis of (i) two year’s purchase
of super profits earned on average basis during the above mentioned
three years and (ii) by capitalisation method.

T weerd w4 fed dF oW § e g am afe e

7§ U T

£4
2007 — 2008 1,90,000
2008 — 2009 2,20,000
2009 — 2010 2,560,000

39 = T wEE H wH # fRfe §S % 4,00,000 | Sifew & owE
T g G W 159% SRt 3 Sfad A ST 8 | §9 s § wi ke &
uifesfes ¥ 1,00,000 i & sifer 74 |

I & 7F & T FNC (1) 39w Sfeafed O el § afsa frr o simm
AT & I aN & FT F IMUR W A (ii) Fohweor fafy gmo

. Pass the necessary journal entries for the issue and redemption of

Debentures in the following cases :
(i) 15,000, 9% Debentures of ¥ 250 each issued at 5% premium,

repayable at 15% premium.
(i)  2,00,000, 12% Debentures of ¥ 10 each issued at 8% premium,
repayable at par.

W@ﬁm%ﬁmmﬁm%mwmmm

(i) 15,000, 9% ®U9T I 250 ¥&F & AT 5% HfHEH ® gam, s 15%
xﬂﬁmmqﬁ%a%

(i)  2,00,000, 12% FU19T X 10 Seds I T 8% Hftgw W gam, st o
W SRT A |
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11. A and B entered into partnership on 15t April 2009 without any
partnership deed. They introduced capitals of 5,00,000 and X 3,00,000
respectively. On 315" October 2009, A advanced ¥ 2,00,000 by way of
loan to the firm without any agreement as to interest.

The Profit and Loss Account for the year ended 31.3.2010 showed a
profit of X 4,30,000, but the partners could not agree upon the
amount of interest on loan to be charged and the basis of division of
profits. Pass a journal entry for the distribution of the profit between
the partners and prepare the Capital Alcs of both the partners and
Loan A/c of ‘A’ 4

1.4.2009ﬁmwaﬁ@m§aﬁﬁmﬁﬁmmmg@mﬁm%
fgm | 384 sARE % 5,00,000 G % 300,000 & ¢St @mE | 31.10.2009
N F ﬁﬁﬁm%m'mﬁ%mm%wﬁiz,oo,ooom

feT | ,
31.3.zo1oﬁwta§qaﬁ%mmﬁasmﬂﬁ@%ﬁi 4,30,000 1
m,wmwmaﬂﬁaﬁmwwm%ﬁﬂﬁﬁmw
Wn@@lmﬁmm%ﬂmﬁ%m@mmmﬁ@
ﬁm%@@ﬁw?mwmﬁmml

12. From the following items of Receipt & Payment A/c of Jai Hind Club,
prepare an Income and Expenditure Account for the year ended

51.3:2010 6
T
Salaries paid 60,000
Lighting expenses 6,000
Ngtationery (including 500 for the previous year) 3,900
#Subscriptions received (including ¥ 1,000 ré;:eivéd in
advance and ¥ 1,500 for the previous year) 49,000
Net proceéds of Refi‘eshment Room 32,400
Miscellaneous Expenses ‘ ‘%2}‘} kV : 3,1)50:
¢ Interest paid on loan for three months Rfﬁ o #a 3,000
Lockers Rent received S‘“bwﬁf 3,600

67/2 5 P1T.0.
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Additional Information :

Subscriptions in arrears on 31.3.2010 were ¥ 2,750 and nine months
interest on loan was also outstanding.

W4 < Fom o freffad i ©@ Fae @ # A ¥ 31.3.2010 HOGHE gQ
¥ & fAw o 99 =49 @ dIR FT

4
I I | 60,000
T 6,000
RYAd (X 500 foa o & fog afifo) 3,900
T 9| (R 1,000 31Fm aar T 1,500 foe ad % fou gfimfaq) 49,000
SqE 8§ S Wi 32,400
fafaa = 3,150
O W 9 AR oSN e 3,000
SRt e iftq 3,600

SfRE G
31.3.2010 = 3T I<T T 2,750 4T T4 T W 9 UE FH =S 0 27 AT |

Pass the necessary journal entries for the following transactions on the
dissolution of the firm of Sudha and Shiva after the various assets
(other than cash) and outside liabilities have been transferred to
Realisation Account :

(1) Sudha agreed to pay off her husband’s loan ¥ 19,000.

(i) A debtor whose debt of ¥ 9,000 was written off in the books paid
< 7,500 in full settlement.

(iii) Shiva took over all investments at ¥ 13,300.
(iv)  Sundry creditors ¥ 10,000 were paid at 9% discount.

(v)  Realisation expenses ¥ 3,400 were paid by Sudha for which she
was allowed ¥ 3 ,000..

(vi)  Loss on realisation ¥ 9,400 was divided between Sudha and Shiva
m-3 : 2 ratio.
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fafgy goftdl (e & ifafcs) a9 a1 <a@stl &1 agel @ § WHAMRa #H &

Tyee B % gENT W g agr foer & e § fefafen omedl & fou saves
TS SfafEl HIN

(1) g 3 3+ ufg & R T 19,000 TOW FA F A & |

(ii) UH erafefigd IR T 9,000 F For & faw of e & T 7,500 W
RURIERE I

(i) fwar 3 wft few T 13,300 # @ fa |

(iv) fafgs el & T 10,000 H 9% & 92 W A fbam T |
(v) agelt =@ ¥ 3,400 & JTaW g&1 A A 39 faw 3§ T 3,000 T 7w |
(vi) el W T 9,400 &I B & gon @ R@n § 3: 2 & 9@ # aler W |

On 1.1.2007 a Public Limited Company issued 25,000, 10% Debentures

of ¥ 100 each at par which were repayable at a Premium of 10% on

31.12.2011. On the date of maturity, the company decided to redeem
the above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit & Loss A/c shows a credit balance of ¥ 30,0(),000 on
this date. The offer was accepted by all the Debenture-holders and all
the Debentures were redeemned.

Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C
of the Companies Act.

1.1.2007 & Us wdwe fafids st 325,000, 10% Fo9E &1 st T 100
TS % 4, ® fFie gnem W fe, e meE 31.12.2011 # 10% Hifrw
W B o | v fafy % ofveear W oFEE 3 39E 10% FomE & i s
Wl % oER o § @ weE & @ Folr REr | 39 R SR F e
@ﬁﬁwﬁﬂ?:ao,oo,ooomlwﬁwwmﬁa‘f:‘rwﬁwmm
qq T WO W e R

A F [ B FA RO & YA @ avas sqmen sfafeat difse, af
A SR SR e a a 117 @ S e R S @

o

i P.T.O.
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15. X, Y and Z were partners in a firm sharing profits and losses in the
ratio of 5 : 3 : 2. On 31.3.2010 their Balance Sheet was as follows :

. /(a)

67/2

: Amount Amount
Liabilities E Assets 3
Capital Accounts : Building 50,000

X : 75,000 Patents 15,000

Y : | 62,500 Machinery 75,000

7 : 31,500 1,75,000 | Stock : 37,500
Sundry Creditors 42,500 | Debtors 20,000
3 Cash at Bank | 20,000

2,17,500 \2,17,500

7. died on 31.7.2010. It was agreed that :

(d)

Goodwill be valued at 2—12— year’s purchase of the average profits of

the last four years, which were as follows :

Years Profits J
£4

2006 — 2007 32,500
2007 — 2008 ' 30,000
2008 — 2009 40,000
2009 — 2010 37,500

Machinery be valued at Z 70,000; Patents at T 20,000 and
Building at ¥ 62,500.

For the purpose of calculating Z’s share of profits in the year of
his death the profits in 2010 — 2011 should be taken to have been
accrued on the same scale as in 2009 — 2010.

A sum of ¥ 17,500 was paid immediately to the:executors of Z
and the balance was paid in four half yearly instalments together
with interest at 12% p.a. starting from 31.1.2011.

Give necessary journal entries to record the above transactions and

7’s executors’ account till the payment of instalment due on
31.1.2011.
OR
17’29
e
8
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Murari and Vohra were partners in a firm with capitals of ¥ 1,20,000
and T 1,60,000 respectively. On 1.4.2010 they admitted Yadav as a
partner for one-fourth share in profits on his payment of X 2,00,000
as his capital and ¥ 90,000 for his one-fourth she}re of go‘odwill.

On that date the creditors of Murari and Vohra were T 60,000 and
Bank overdraft was ¥ 15,000. Their assets apart from cash included
Stock . 10,000; Debtors T 40,000; Plant and Machinery % 80,000;
Land and Building ¥ 2,00:000. It was agreed that stock should be
depreciated by ¥ 2,800; Plant and Machinery by .20%, % 5,000 should-
be written off ‘as bad debts and Land and '-B@Muld be
appreciated by 25%. e

Prepare Revaluation Account, Capital Accounts of Murari, Vohra and
Yadav and the Balance Sheet of the new firm.
Qw,aﬁw.ﬁ‘s’@wﬁﬁmz\raﬁm—aﬁ&s:z%aﬁmaﬁaﬁaﬁe\u
31.3.2010 & 37 fafa faswor 7= TR § o1 ¢

gt 252 g 4
TS @ | | & 50,000
T 75,000 THE (TH) 15,000
a% ;62,500 YA 75,000
e 37,500 | 1,75,000 | ©I% : 37,500
fafay SR 492,500 | STaR 20,000
% H J%E 20,000
2,17,500 2,17,500

31.7.2010@%@%@?‘@w1%mmwﬁ5:
() mﬁwwﬁﬁwﬁ%ﬁwm%zéﬁ%m%mm
T S R e YR | A

S
4 o
2006 — 2007 32,500
2007 — 2008 30,000
2008 — 2009 40,000
2009 — 2010 37,500
9 , P.T.O.
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(@) w0 & qgegied R 70,000;@ T 20,000 T wad T 62,500 fwar
T |

Q) ﬂ%aﬁﬁwﬁ@}g%aﬁfﬁm%m2010m9011aﬁfﬁw
2009 — 2010 =¥ # S @9 & WAH & A ST |

@) S ¥ fraes @ T 17,500 F GO T BT W @ 9w e
5112011@gamwwaéaﬁamﬁﬁ12%qﬁaéamaﬁ
=9 gfed feear S |

mcddq«nao‘rm@lW@%WWWWWWSllZOH
ﬁﬁmﬁ%wwﬁg%ﬁm@wmml

HYdT

T e AT UE B OH WERR ¥ qg7 39 ¢fel sEer % 1,20,000 T
Z1,60,000 & | 1.4.2010 # 3= @9 ¥ 1/4 9 & faw = % T 2,00,000
o ©fg ¥ o 1/4 9 % fg T 90,000 F YEH FH W ACE F TH A4

R T4/ |

I fafy @ qU0 @91 G0 & IFER 3 60,000 F & T4 9% HufEEE T 15,000
g | AFT F SEE IAH gEE e A - =is T 10,000; SFER T 40,000;
93 qa W0 T 80,000; 4T @w wad ¥ 2,00,000. & fuig fo=n mr 5w
W ¥ 2,000 H RN I WG GAT qA AT W 20% FOGeIEE A
ST, T 5,000 S94 ®oT ufafEd fRT SO SR 9 941 g6 woHed 26% FEl-
T | ,
ECLRIETBRCININ WA, 9%0 a9 Ied & (s @ A W wH o fafa fee
TR |

Dinesh Ltd. invited applications for issuing 10,000 Equity shares of

- ¥ 10 each. The amount was payable as follows :

On Application T 1_

On Allotment ¥ 24

On First Call ¥ 9

On Second ‘and Fmal Gall — Balance A

The issue was fully subscrlbed Ram to whom 100 shares were
allotted, failed to pay the allotment money and his shares were
forfeited immediately after allotment. Shyam to whom 150 shares
were allotted, failed to pay the first call. His shares were also

10




67/2

forfeited after the first call. Afterwards the second and final call was
made. Mohan to whom 50 shares were allotted failed .to pay the
second and final call. His shares were also forfeited. All the forfeited
shares were re-issued at ¥ 9 per share fully paid up. Pass necessary
journal entries in the books of Dinesh Ltd.

OR

Moti Ltd. invited applications for issuing 10,00,000 Equity shares of
Z 10 each at a premium of ¥ 2 per share. The amount was payable
as follows :

On Application ¥ 5 (including premium)

On Allotment T 4

On First and Final Call X 3
Applications for 15,00,000 shares were received. Applications for
3,00,000 shares were rejected and pro-rata allotment was made to the
remaining applicants. Excess application money was utilized towards
sums due on allotment. Giri who had applied for 24,000 shares failed
to pay the allotment and call money. His shares were forfeited. Out
of the forfeited shares 10,000 shares were reissued for ¥ 8 per share
fully paid up. Pass necessary journal entries in the books of Moti
Ltd.
few fa. 4% 10 %% 3% 10,000 THar aivh & frfma % fog epeed smfEd
fip | TR F A (T SRR @ & @

ameed W T 1

3eed W T 2

g9 AT W T 3

@ qa SfH A W — N
wm%mmm@ﬂlmmwoaﬁﬁmmmwmﬁ
mﬂwﬁrwwaﬁﬁmammwﬁm%wmwmm
| v R 150 SE @ Sneed FERN TR 4T, 4 NeW ASA HTEE T
frar | ST AT F UYL I9% IR o S @ fRn T | Ao g e
Ffm g " TS | i oS 50 oigt @ e fRar T on, 3 gEd qur fwH
e A HOPTaE T R g% sivh @ f seq R e | S fRg
T sig @ 2 9 W ofw W pl-ved g fifr s fen e | feawr for. &
e SIS FNT

HAYdT

11 : PIT.0.
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A 7. 3 T 10 7@% F 10,00,000 FHar 33 & ffmA & faw smaca smwfad
?lmﬁwﬁﬂm?zwﬁm%mwmm|Wwwﬁww
qp .

AEed W T 5 (Afiygw 4fgd)

AEed W T 4

g qgr Af<H I W T 3
15,00,000 3¥h & fT er&eT o= gT | 3,00,000 3% & fau e &1 e
X fea T qg AT SEH H AW SMER W HEA fEAr w1 i
F¥ed T & GHENE ofEed W 2 Uiy ¥ W fomm | i SR 24,000
sivii & fow amaed foar @1, 3 oweed U 9 = U @& gad @ fEEr |
Tq% ST F ST &% for TR | S fU T aied ¥ ¥ 10,000 3T &1 % 8 Wh
siw piven g foifie s fer mr 1 At fA. @ qEEl B osewEs s

yfafar i |
PART B
(Financial Statements Analysis)
IR |
(faxita Taawont &1 fayeron)
17. List any two financing activities that will result into outflow of cash. 1

gl 31 fad foramell & g1 SR fee wRome JdE & A SEE A |

18. What is meant by ‘cash equivalents’ ? e yic
Uehe qeadE H F 3 7 2

19. State the interest of investors in the analysis of financial statements. I
fravet & foxiia fgaxoll & favewor 4 fed s@R=T |

20. State the major headings under which the following items will be put
as per Schedule VI Part I of the Companies Act, 1956.

(i) Long term investments; (i) Bills of Exchange; (iii) Motor Car;
(iv) Discount on Issue of Shares; (v) Securities Premium and
(vi) Unclaimed dividend. 8

F ifufrm, 1956 & g VI 9 [ 3 seR frafafed wdf &t e fo-fo
g@?ﬂﬁﬁ%wﬁ@ﬁ:

() S e i) At (i) e FR); (iv) Sl & fpiE W e
(v) Sffer shfim qam (vi) S A |

67/2 12



21.

Calculate Current Ratio of a company from the following information :

Stock Turnover Ratio : 4 ‘times

Stock in the end was 20,000 more than stock in the beginning.
Sales ¥ 3,00,000° Loo® I

Gross Profit Ratio 25% : 2
Current Liabilities I 40,000

Quick Ratio 0-75:1

ﬁﬂf&fﬁaﬁw@@m%a@a@maﬁmﬁm:

wie aEd A 4 T

s whF, e % § 20,000 S A
fasa T 3,00,000 |
el o ST 25%

o1 e T 40,000

e A 075 ¢ 1

22. Prepare a Comparative Income Statement from the following

67/2

information :
Particulars T [ 3132009 | 31.3.2010
i i i -

Sales 40,000 - 50,000
Cost of goods sold 30,000 35,000
Wages paid 16,000 14,000
Operating Expenses 2,500 3,000
Other Incomes | 2,000 3,000
Income Tax 4,750 7,500

’ﬁmﬁf@ﬁwﬁ@@mmﬁammz

feerat 31.3.2009 31.3.2010 |
A z z
fashar 40,000 50,000
3 T AT H AT 30,000 35,000
LERURURIE! 16,000 14,000
EEIRE R 2,500 3,000
A 2,000 3,000
3T B 4,750 7,500
13 P.T.O.
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Calculate Current Ratio of a comp

Stock Turnover Ratio : 4 times

any from the following information :

Stock in the end was Z 20,000 more than stock in the beginning.

Sales ¥ 3,00,000°
Gross Profit Ratio 25:73

Current Liabilities ¥ 40,000

Quick Ratio 0-75:1

fz°(°°’ : ("“’

)L

ﬁqﬁfﬁéﬁ@mﬁ@m%aﬂmﬁmm:

wfs aad ouE ;4 oW

| e T A @

s wfF, RS ©iE ¥ 20,000 ST A 1
fasa T 3,00,000 |
e A 3T 25%
4 e, T 40,000
T U 0-75 1 1
Prepare a Comparative Income Statement
information :
[ Particulars 31.3.2009 | 31.3.2010
\ T ’ 4
Sales | 40,000 50,000
Cost of goods sold 30,000 35,000
Wages paid 16,000 14,000
Operating Expenses 2,500 3,000
Other Incomes : 2,000 3,000
Income Tax 4,750 7,500

qorend o faerT ST

fereroT 3132009 | 31.3.2010 |
: Z Z
fsa 40,000 50,000
I M A H A 30,000 35,000
AU IR 16,000 14,000
e 4 2,500 3,000
7= A 2,000 3,000
T 4,750 7,500 |
13

from the following

4

PO,



23. From the following Balance Sheets of Vikas Ltd. as on 31.3.2009 and
31.3.2010, prepare a Cash Flow Statement :

31.3.2009| 31.3.2010 31.3.2009 | 31.3.2010
Liabilities 4 < Assets T £
Sharé Capital 90,000 | 1,30,000 | Fixed Assets 93,400 | 1,66,000
General Reserve 30,000 55,000 | Stock 22,000 26,000
Profit and Loss Account 20,000 30,000 | Debtors 36,000 39,000
Trade Creditors 17,400 22,000 | Cash 4,000 5,000
Preliminary
Expenses 2,000 1,000
1,57,400 | 2,37,000 1,57,400 | 2,37,000

Additional Information :

1)

Depreciation charged on fixed assets for the year 2009 — 2010 was

67/2

Z 20,000.
(i) Income Tax ¥ 5,000 has been paid in advance during the year. 6
31.3.9009 7 31.3.2010 @ fam@ fa. & fefafan Rafq fa=l @ e a8
fagwor eqET -
31.3.2009 | 31.3.2010 31.3.2009 | 31.3.2010
LRl z z | e A
afer ¢S 90,000 | 1,30,000 | T Fwfwal 93,400 | 1,66,000
BILIR LR 30,000 | 55,000 | ©IF 29,000 | 26,000
-1 e 90,000 | 30,000 | TR 36,000 | 39,000
IRE AHER 17,400 | 22,000 | IS 4,000 5,000
R I 2,000 1,000
1,57,400" 287,000 1,57,400 | 2,37,000
sifaftes gEAr :

(1)
q |
(ii)

14

s o @ ad F sfm e T 5,000 fEAT ST OGE €

% 2009_ 2010 % fou v widl | qedeE I 20,000 SR T



ﬁﬂmﬁ%mmmtﬁﬁﬁaﬁmm:
TEmE Wl

¥ 15,000 % % T 3o W 45%, <A X 6,000

z 15.000 ¥ e & T4 3o R 35%, =g X 7,600
W T Wl

< 10,000 7% ¥ @ ¢ % [ . % 4,000
z 10,001 — ¥ 15,000 9% ¥ e o & A Z 8,000
2 15,000 ¥ 3 F T Fa= & fo . % 10,000
T gfagfa W

T
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